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---- footer

parser = calcp.new aAYURSAUBIHD1ER
begin /
if ARGV.length>=1 th ——
fname = ARGV[0] TIH—ILEDT7AILE
else TrANE, — T ONELET

fname = 'test'

end R "
File.open(fname) {|f| SI%, BREL

parser.parse(f)

rescue NoMethodError, ArgumentError, Parsegrror

print $!, " at Tine #{parser.lineno}", "¥n" def parse(str)
end @q =[]
lineno = 1
# BAa

T71ILDEDHBESICLEI(2)

B{FDFER

def parse(f) a=0
" b=0
gﬁ = [l -1 target: exp { @result = result } if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
ineno = | /* none */ { @result = result = 0 } ‘o
f.each do |line| T = -l;:lm if b then c=0 else c=1 end else if b then c=2 else c=3 end end
|me$trlp, def ||nen0 —FEE%JEI |Ca en i ien ¢=0 else c=1 end else if ien c=2 else c=3 end en
print( ">>", line, "¥n" ) @lineno ‘gjé
until line.empty? end if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
case line c
#BR ;Zi
if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
end ‘
line = $' '
end =>0 =>1
@q.push [false, '$end'] e =>0
do_parse :g =1
puts( "=>"+@result.to_s ) =>0 :i
@lineno += 1 =>; 51
=> -
end =>2 ;3 HEROHEFOTE
end
rule
=A s target:
EIH:H EE It | exp
| Texp
=B =
& FREXDEAL, BRI,
© | iV =3 -%‘: Texp: exp '==" exp { result = (val[0]==val[2]) }
@ﬁ]ELL( ’j:-"—' ° | exp "!=" exp { result = (val[0]!=val[2]) }
. ﬁf"}ﬁﬁ%*")ggl) | exp '>=" exp { result = (val[0]>=val[2]) }
| exp '<=' exp { result = (val[0]<=val[2]) }
| exp '>‘ exp { result = (val[0]> val[2]) }
. za ) - o= . | exp '<' exp { result = (val[0]< val[2]) }
® =12 wmEXIIESN-FEZATFZ (T TRWL | Jexp &7 lexp { result - (vall0] && val[2]) }
0 - | lexp "||" lexp { result = (val[0] || val[2]) }
6;&[_'3'60 | "1 Jexp { result = !( val[1ll]) }
| (" Texp ") { result = val[1] }
| TRUE {result=true}
I

FALSE {result=false}




BNTIELDFELD, .

prechigh

nonassoc '==' 'l=' '>='"'

nonassoc '!'
Teft '&&" "[|"'
preclow

when /¥A(==|>=|<=|1=)/
@q.push [$&, $&]

} BEBLETHITEM

} ik FEOTLHRE

when /¥A(&&|¥|¥
@q.push [$&, $&]
IRT—TREDELEDT,

XFELT Dt

D REIBTYEH, print CHLWLEZLDT

args : { result = [] }
| exp { result = val } # result = [val[0]]
| lexp { result = val }
| args ',' exp

{ result.push( val[2] ) }

$ ruby calcll.rb iftest4
a=1b=1

a==b

a=1b=20

al=b

a=1b=1

a==b and b==1
a=1b=1

not !a==b

a=1b=1

not !(a==b and b==1)
true

MzLIcy

3% & [E1RE6

@ intp.y ZEIHN L THTLIESW, ZLTRDFESR
EREZELTTILY,
n OAXVRSAUMSIFAINBEFLESICLTTSLY,
= if then else end DEXNERITISESZLEEFIL
TWET, —1THRIZENTEELESIZLTTELY,
» (LUEIFEEMNET) REFEN)ZFEALTZEL,

+ ;XE: FuncallNode.new#IEREE D, NEFDOBEKA (L.
ATIRIECHTT,




